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Growth and development both commonly relate to measurement of
2se S8 Dorko wad AordnoT DB Fodd SonobodRD
Options :

Qualitative aspects of an individual only

2.8 58 ) s women SeEm

Quantitative aspects of an individual only
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Changes that occurred in an individual
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Heredity factors in an individual only
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Question Number : 2 Question Id : 7150533980 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

According to Plaget, a unit of one’s cognitive structure in the shape of a general
potential to perform a particular class of behavipur is
dira @edo, &8 05 KN AErode-8 drorde o 5 Nogrard)5
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Options :

Assimilation
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Schema
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Equilibration
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Question Number : 3 Question Id : 7150533981 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following is an example of ‘Law of Effect’
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Options :
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A teacher gave his primary school students some mathematical problems as
homework during holidays
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A teacher asked his fourth grade students to recite any one poem learnt in
grade one
2.8 earprdintd 885 orod 518 Do e 2,565 B5K8E° I 5 OB &
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A teacher introduces ‘writing’ of alphabet only in Grade 1
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A student started to solve math problems quickly as he was praised by the
teacher in the class every time
esargreydintd a8 Deepdd) H88 RS B SHto Ho 0did KBS S &5
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Question Number : 4 Question Id : 7150533982 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Aceording to Vygotsky. this plays a major role in one’s development
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Options :



Unconscipus mind
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Heredity
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Hormones
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Question Number : 5 Question Id : 7150533983 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Individuals begin to use language verbally to express their emotions during this stage
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Options:
Early childhood
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Adulthood
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Question Number : 6 Question Id : 7150533984 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At what stage, as per Psychosocial theory of Erikson. should the school and teachers
be careful to help the students maintain positive attitude towards themselves
Irrespective of success and failure in their work
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Initiative vs. guilt
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Industry vs. inferiority
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Identity vs. role confusion
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Autonomy vs. shame and doubt
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Question Number : 7 Question Id : 7150533985 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following is a characteristic of an individual who has reached the Post
Conventignal level of Moral Development according to Kohlberg
8% @550, 800 86" .58 FBE i’ edY Fogicrans Fond SN 58 g
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Options :

Accepting societal norms without questioning
B8 0u%0n Jrodo8 Doogiden wohiBoldto

Identifying himself with authority
B5:5 oo oposs® Hbosto

Acting according to the likes or dislikes of others
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Acting as per their conscience
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Question Number : 8 Question Id : 7150533986 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Solving a maze game is an example of
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Options :



Divergent thinking
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Creative thinking
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Convergent thinking
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Critical thinking
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Question Number : 9 Question Id : 7150533987 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An effective leader shall show his superiority over the group members in terms of
Eerasiotd Trabbiitd € Do Hamer Sibion 88 @fEiEh draodrd

Options :

Qualities respected by the group
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Finanecial status
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Educational qualifications
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Dictating rules
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Question Number : 10 Question Id : 7150533988 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A researcher collected information from the students to know “whether their teachers

are using social media in the teaching-learning process’. The method used by the

researcher to collect information
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Options :

Experimental method
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Case study method
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Survey method
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Observation method

HBBes D58

Question Number : 11 Question Id : 7150533989 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following is basis for learning according to Gestalts
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Options:

Eandom movements
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Insight
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Reinforcement
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Question Number : 12 Question Id : 7150533990 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The learning domain that focuses on development of skills
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Options :

Conative
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Affective
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Question Number : 13 Question Id : 7150533991 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Rahul has learned about the continent of Asia and then North America. In the exam
he could not answer a question on North America as his learning of Asia was
interfering. The type of forgetting here is

oid ehdie pofio 960D S HE) ShErd &85 ebs HBod e, H056°
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Retrpactive inhibition
B ES wssito

Disuse
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Repression

Haoido

Proactive inhibition
K0 wssiso

Question Number : 14 Question Id : 7150533992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the one that promotes positive transfer among the following
20B 88° otre 2800 B8 8r03 0D HBoSod

Options :

Using rote learning

meg ﬁg@:{ﬁ aoarhosto

Learning new concepts in isolation
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Applying learnt principles in new situations
St bordy SrEee SrES 56DHE edd@rhRoSto

Suppression of past learning
4. % 08 o) wedadhEo

Question Number : 15 Question Id : 7150533993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a step to be followed in implementing inclusive
education in schools

208 aad° é‘viﬁﬁuuéj 028 DD waben oo w800y drrio S*RG
Options :

Distancing children with special needs from the mainstream children
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Capacity building of teachers

SargEcine %waﬂagaﬁ Dodto

Renovating the buildings to suit all the learners
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Accessibility of learning material to all children
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Question Number : 16 Question Id : 7150533994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The central idea of activity based learning is
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Options :

Provision of high quality teaching learning material to learners
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Learning should be based on hands-on experience

edeiso eldfned )l odso 3 adshé somd
) L= o

Learner should be passive
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Teachers do not have much role to play
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Question Number : 17 Question Id : 7150533995 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Among the following, the important factor to be considered by the teacher for
assigning individual or group activity to students in the school

208 =38, FrdTed Dergeb sy5HNE B ST Bymeif sl earmreing
2Brgodsens Sneehs 5850

Options :

Teacher's comfort
SarpEaind APedio

Social status of students

) 2 o
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Student’s preference
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Students abilities
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Question Number : 18 Question Id : 7150533996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Spiral curriculum is mainly attributed to this psychologist
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Options :

E L Thorndike
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Jerome Bruner
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J B Watson
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Alfred Adler
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Question Number : 19 Question Id : 7150533997 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the important elements of effective planning in teaching-learning

B -oso Y SHEBeEDS HErdEE’D fnnS wores® 568
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Options:

No scope for flexibility

S8 edwdo BEESE0
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Teacher dominance

SarpECinn ehdo

Catering to individual differences
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Selecting activities of teacher’s interest
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Question Number : 20 Question Id : 7150533998 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

X-rays of the bones of the wrist of the child will tell approximately what his ultimate
size will be. This is an example of this principle of development
800 DE5ED wsSe X- 3 089 wos HB5re0 ame? Hirhr BDdHEN0b. ab dxHo
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Options :

develppment is predictable
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development proceeds from general to specifie parts

D=0 Argrdes0 ok ﬁg{é et BRariosod

principle of integration
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principle of interrelation
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Question Number : 21 Question Id : 7150533999 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Wishful forgetting is
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Options :

Natural forgetting
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Amnesia

o
(SRt evas
oL

Repression

a0

Inhibition
ws5 80

Question Number : 22 Question Id : 7150534000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Guidance’ is

SrPBSEEE0” 0l
Options :

Exclusive service for adulis
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Support for better adjustment
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Therapy recommended for maladjusted
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Carrying the burden of other’s life
siithe €98 groef)y Frdhido

Question Number : 23 Question Id : 7150534001 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The amount that can be levied as fine on a school if it collects capitation fee In
contravention of the provisions of the RTE Act, 2009
RTE 380, 20096° dnotiies dhor sehBs per Skmen 3y Jrdaep sbSmwre

Deodat aodo

Options:

Up to Ten times of the fee collected

, Simen D08 Herdhy D6 e 55B
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Rs.25000
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Rs.50000
&z.50000

Upto Five times of the fee collected

. Sdmen D55 Serh 0 B 355
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Question Number : 24 Question Id : 7150534002 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following is NOT recommended in NCF 2005
206 a#836° NCF 20058° Hardh) Sabatids

Options :

Stimulating school environment
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Integrated approach
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Plurality of textbooks
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Two-language formula
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Question Number : 25 Question Id : 7150534003 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Phonemes, Morphemes, Syntax and Semantics are the elements of
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Options :

Emotions
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Language
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Cognition
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Question Number : 26 Question Id : 7150534004 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In a learning curve, the period of no apparent progress followed by further
improvement is called as

o5 &8 Bpet, gl Hdrbde P38 Bod oo artn K}J{.@é H5KE B9 o0

Options :



Initial spurt
ErSodl Srid

Physiological limit
85 206

Plateau
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Fluctuations

il Srpen

Question Number : 27 Question Id : 7150534005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In Pavlov's conditioning theory, ‘ringing of bell’ is
s G5 Deoss Eatgcéoe‘ia ‘o BZeiito’

Options :

conditioned response
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unconditioned response
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unconditipned stimulus
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conditioned stimulus
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Question Number : 28 Question Id : 7150534006 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The concept of Intelligence Quotient (IQ) was introduced by
Ber of (IQ) s HIE DSt

Options :

Alfrad Binet
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J.J. Ravens
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L.M. Terman
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William Stern
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Question Number : 29 Question Id : 7150534007 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
‘Finger Dexterity Test’ can be used In assessment of
‘wotbf Fxdes; 565 HAD SrHSo S5ob.

Options :

Attitude
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Personality
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Question Number : 30 Question Id : 7150534008 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The gland that is located below the hypothalamus is
aeEfrreshn Bob dind, [(fod
Options:
Adrenal
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Pituitary

2, o DX

Pancreas
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Thyroid
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Question Number : 32 Question Id : 7150534011 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 7150534013 Question Type : MCQ Option Shuffling : Yes Is
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Sub questions

Question Number : 36 Question Id : 7150534016 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 7150534017 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 7150534018 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 7150534019 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 7150534020 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
& Hoed® 65 56 5 Ane?
Options :

1.
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Sub-Section Number : 3
Sub-Section Id : 715053196
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 41 Question Id : 7150534021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 7150534022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 7150534023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 7150534024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 45 Question Id : 7150534025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Question Number : 46 Question Id : 7150534026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 7150534027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 7150534028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 7150534029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 7150534030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 7150534031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 7150534032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 7150534033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 7150534034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 7150534035 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Question Number : 56 Question Id : 7150534036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 7150534037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 7150534038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 7150534039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 7150534040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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4. ®

Language II English

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Id : 7150534041 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

715053117
3

Online
Mandatory
26

26

30

Yes

0

1
715053197
Yes

null



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (61 to 65)

Question Label : Comprehension
Read the following passage and answer the questions from 61-65. Choose the correct
option for each question.

King Akbar received a letter from a neighbouring king asking for a potful of wisdom.

He 1 turn consulted his clever jester Birbal. Burbal requested the king to give him some time
to give a potful of wisdom. The king agreed. So. Birbal grew a pumpkin i a pot and gave it
to the king. The king in turn sent it across to the neighbouring king with a note. “The wisdom
should be removed without damaging the pot or the wisdom in it. If you damage either of
them you should be ready for a battle.” The neighbouring king was surprised to see the potful

of wisdom, realised his mistake and fell at the emperor’s feet. He begged the emperor to

forgive him.

Sub questions

Question Number : 61 Question Id : 7150534042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Akbar consulted his clever jester Birbal to
Options :

1 % make fun.

5 % send him to the neighbouring kingdom.

take advice.

give a potful wisdom.
4, &



Question Number : 62 Question Id : 7150534043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
As per the king’s note. the pot sent to the neighbouring king contains

Options :
diamonds.

1. %

wisdom.

3 ¢ pumpkin.

smpty.

Question Number : 63 Question Id : 7150534044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The neighbouring king was realised his mistake. The mistake 1s
Options :
asking for a pumpkin.

1_%5

asking for a potful wisdom.
2.



3 % asking for kingdom.

askig for money.

Question Number : 64 Question Id : 7150534045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

As per the passage. the following statement 1s NOT correct.
Options :

The neighbouring king was able to take out wisdom from the pot.

The neighbouring king was surprised to see the potful of wisdom.

2.4
Birbal grew a pumpkin in a pot and gave it to the king.
3 %
King Akbar received a letter from a neighbouring king asking for a potful of
4 % wisdom.

Question Number : 65 Question Id : 7150534046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“He begged the emperor to forgive him.” Whom does ‘He’ refer to here?



Options :

The neighbouring king
1.4

King Akbar

2. %

3 % Birbal

King Jahangir

4, %

Sub-Section Number : 2
Sub-Section Id : 715053198
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 7150534047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Physiotherapy can some types of pain.

Complete the sentence with correct option.

Options :
lesson
1.
lessen
2. %

3 % lesser



lessee

Question Number : 67 Question Id : 7150534048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

I assumed that you were an extrovert.

Choose the antonym for the word “extrovert.”
Options :

boaster

social

introvert

4 % vocal

Question Number : 68 Question Id : 7150534049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the part that contains an error in the sentence.

The police detective  careful collected the samples for DNA testine.

A B £ D



Options :

A

Question Number : 69 Question Id : 7150534050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“Don’t say a word.” This sentence mndicates

Options :

1 ¢ Command.

E st.
5 % eques

Question.
3. %

4 % Secking permission.

Question Number : 70 Question Id : 7150534051 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Pick the grammatically INCORRECT sentence.

Options :

The children are excited to see an elephant at the zoo.

Elephants needs extensively land areas to survival.
2. %

The largest living land animal is the African Elephant.
3. %

Elephants are among the most intelligent animals.

Question Number : 71 Question Id : 7150534052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the option that best expresses the meaning of the idiom *To Bell the Cat’,
Options:
To chase a cat

1. %

5 % To have a comfort

To play with a cat
3. %



To face a rnisk
4,

Question Number : 72 Question Id : 7150534053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word.
Options :

1 & Accelerate

Acselerate

3 % Accelarate

Accilerate

Question Number : 73 Question Id : 7150534054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Thieves the house in the middle of the night.

Choose the correct option to complete the sentence.

Options :



break up

broke out

broke into

broke down

Question Number : 74 Question Id

: 7150534055 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

We know he was honest.

Fill in the blank with the appropriate option.

Options :

1% this

5 & that

than

3. %

4 % about

Question Number : 75 Question Id

: 7150534056 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Negligence causes many serious accidents.

Select the passive voice sentence.,
Options :

Many serious accidents are caused by negligence.
1. %

Many accidents serious are caused by negligence.

Many serious accidents are causes by negligence.

Many serious are accidents caused by negligence.

Question Number : 76 Question Id : 7150534057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an interrogative sentence?
Options :

Parents are responsible for the safety of their children.

The Minister will hold a press conference tomorrow.



Do you like reading books or watching movies?

4 % I wanted to practice speaking French with native speakers.

Question Number : 77 Question Id : 7150534058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Many had been prepared for the festival.

Fill in the blank with the correct option.
Options :

1 % sweet dish

o Sweets dishes

3 % sweets dish

4 sweet dishes

Question Number : 78 Question Id : 7150534059 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
youre my friend very best friend

Choose the correctly punctuated sentence.



Options :

You're, my friend very Best friend.

5> You're my friend. very best friend.

You're my, Friend very best friend.

You're my friend. Very best friend

Question Number : 79 Question Id : 7150534060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Give the gift to comes first.

Fill 1n the blank with the correct option.
Options :

whatever

5 % whomever

whoever
3.¢

whichever



Question Number : 80 Question Id : 7150534061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A handwriting that cannot be read
Options :

Inedible

> o Nlegible

3 % Ilusion

Nlegal
4, %

Question Number : 81 Question Id : 7150534062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

He said, ‘T am writing stories.’

Select the sentence in indirect speech.
Options :
He said that he writes stories.

1. #

He said that he had writing stories.
2. %



s He said that I was writing stories.

He said that he was writing stories.
4.

Question Number : 82 Question Id : 7150534063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct sentence.

Options :

My mother wants me to turn the TV off and have dinner.
1.¢

Police are looking to in connections between two the crimes.
2 %®

We need to come with up a solution.
3. %

Nothing comes us between.
4. %

Question Number : 83 Question Id : 7150534064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following in order to form a meanmingtul sentence.
A)  After the Second World War.

B) to prevent the conflicts of war

C)  to build the institutions

D) the leaders of western world tried

Options :

AR C. D
#

A DB C

A DC,B
o

A B D C

Question Number : 84 Question Id : 7150534065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Medical science has almost everything except death.

Pick the suitable option to fill in the blank.
Options :

1% surrendered

21ve up



5 o con quered

conceded

Question Number : 85 Question Id : 7150534066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

This 1s a component in each unit of primary English textbook of Telangana State Board

for the self assessment of the students on the unit they read.
Options :

How well did I understand this unit?
1.

How much did I remember from this unit?

. How well my teacher taught this unit?
3. %

How can I improve my leamning?
4. %

Question Number : 86 Question Id : 7150534067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The following 1s NOT a feature of ‘Language Acquisition.’



Options :

1 % Natural process

Meaningful interaction

Conscious process

Focus on communication

Question Number : 87 Question Id

: 7150534068 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Universal Grammar’ 1s associated with

Options :

1 % Pavlov

5 % Skinner

3 ¥ Chomsky

Piaget
4.% 5

Question Number : 88 Question Id

: 7150534069 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The main advantage of reading aloud 1s that
Options:

it helps the readers to maintain calm in the classroom.
1. %

it enables readers to think while reading.
2. %

it 1s a faster way of reading.

it improves pronunciation and articulation,
4.+

Question Number : 89 Question Id : 7150534070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In India, English was first introduced in education during this the Governor-General's

mle

Options:

Lord Canning
1. %

Lord Dalhousie



Warren Hastings
3. % -

Lord William Bentinck

Question Number : 90 Question Id : 7150534071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The tollowing is least important while choosing the children literature
Options :

font size of the text

reputation of the writer
2. %

age of the children

3. %
4 % appropriate themes

Mathematics
SectionId : 715053118
Section Number: 4

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053199
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 91 Question Id : 7150534072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ramesh went to school at 7:15 in the morning. He came back to home at 1:05
in the afternoon. The total time spent (in minutes) by Ramesh from going to
School and till returning home 1s:
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Options:

1, % 370

4 % 360



Question Number : 92 Question Id : 7150534073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The difference of the largest and smallest prime numbers between 50 and 90

41

Question Number : 93 Question Id : 7150534074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Equivalent number of 10 crores in International system 1s:
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Options :

1.+



100 mallign

100 &uocihen

1 million
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10 milhion

10 Spdahad

3. %

1 billion
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1 218dha
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Question Number : 94 Question Id : 7150534075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Two numbers are in the ratio 3:3. If the sum of these two numbers 1z 136, the

smaller number among them is:

S w e a meoB s ey N
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Options :

w34
51
2.
53



Question Number : 95 Question Id : 7150534076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Prmeipal Ranjani bought a ribbon of length 27m 30cm. If she gives each girl a
ribbon of length 30cm., the number of girls for which she can distribute the

ribbon 1s:
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Options :
1. % 90
. 901
2. %
L x 901
01
4. &

Question Number : 96 Question Id : 7150534077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The number of possible three-digit numbers using digits 4. 6 and 9 by taking

each digit only once is:
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Question Number : 97 Question Id : 7150534078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

w | =

2
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Options :
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Question Number : 98 Question Id : 7150534079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following number is divisible by 8?
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Options :

83828

Question Number : 99 Question Id : 7150534080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



‘Kaprekar's constant’ in the following 1s:

Options :

1279
1. %

6174
L

1729

6714

Question Number : 100 Question Id : 7150534081 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following number is NOT a perfect square number?

Eoh r:ICla_. "’}'?l a..-E‘, q..' "@c-.um :UF -.*CICI':'L =~ ¥4

Options :

3969

1. %



Question Number : 101 Question Id : 7150534082 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Number of grams in 1 Quintal is:

Options :

. % 10000

5 o 100000

1000000

Question Number : 102 Question Id : 7150534083 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ravi fills 5 litres of petrol in his car for every 3 days. The number of litres of
petrol filled by him in the month of September 1s:
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Options :

0

Ly}

5, % 150

3 % 90

Question Number : 103 Question Id : 7150534084 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a = -3, then the value of a(a- 3)-8 is
a = -3 wongd, a(a - 3)-8 Ging) Densd:
Options:
26
1. % -
2. % .
_26
3.%
10



Question Number : 104 Question Id : 7150534085 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

No. of plane surfaces of a cylinder are:
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Options :
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Question Number : 105 Question Id : 7150534086 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Perimeter (in cm) of a rectangle with measurement 12em x 15cm 1s:
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Question Number : 106 Question Id : 7150534087 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The mode of the numbers 3, 5, 4.6, 5. 4,2,.6.1, 3, 2.1, 4 1s:

Sdoggen 3,5,4,6,5.4,2,1, 7, 8.3, 2, 1, 4 6o, erTo¥so:
Options :

4

L

Question Number : 107 Question Id : 7150534088 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The average of first 25 natural numbers 1s:
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Question Number : 108 Question Id : 7150534089 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Euler's formula for a polvhedron is:
poL
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SeFollEkes B0 BoeD ImEho!

Options :
F—-E=2- V¥
1.+
F_-2=V—-E
2. %
F+V=E-2
3. %
F+E=V-2



Question Number : 109 Question Id : 7150534090 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In a milk packet of 2 litre, 500ml of water 1s present. Then. the ratio of water

to milk in the milk packet 1a:
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Options :

1.

1:3
2. %

1:40
3. %
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Question Number : 110 Question Id : 7150534091 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Equivalent fraction of 0.125 1s:

PE R TS B
0.125 8 35505 oo
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Options :
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5
2. % 14
1
3. % 4
1
4.« 8

Question Number : 111 Question Id : 7150534092 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

29y 53
105

Options:

10

h



Question Number : 112 Question Id : 7150534093 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Number of sides in a Hexagon 1s:
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Options :
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Question Number : 113 Question Id : 7150534094 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The number of lines of symmetry in a rhombus 1a:
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Options :
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Question Number : 114 Question Id : 7150534095 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A 36cm long wire is used to form a square. Then. the area (in sq.cm ) of the

Ml s D Do m s o A o BB o Bmarms Bae au o nd ORIV
E".:&@;Diﬁ"’t{: Srerofodteas 36 Rotlihed sREaS Shi Gol0IFNN, 8 D000 Q05;

Options :

18

81

48

64

Question Number : 115 Question Id : 7150534096 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

A student used basic concepts of triangles in construction of a triangle with
given measures”, then the academic standard attained by the student 1s:
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Problem solving

Reaszoning and proof
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Communication
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3 %

(Connections
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Question Number : 116 Question Id : 7150534097 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the contexts in which the Inductive method can be used among the
following:
Sob & TBE ad ELC‘?ES &ad@rAotie dotitmed HBodob:
A)  Toevolve the formula
55 D08
B)  Tomake rules
Dabsiren SrePoboidtras
C)  Totheorize
NTEDCJ ;g’fﬁl lncEl
D)  When importance 1s given for solving the problem by using formulae
HrEEeeN) eR0rAo) D PON% ERTRRE 68)
Choose the correct answer:

208 sPael a0t ol
Options :

A & Bonly
A & Bsrgd

A, B& Conly
, v A B&Csrga

B. C & D only
3 x B.C&Dirgsd

A B.C&D
4. %

Question Number : 117 Question Id : 7150534098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following pairs related to “mathematics teaching learning material

and activities that can be done with them”.

o

“Hede S pJES SP(A, TEE DaONA & gy@o” B donohoils Sob adud
ek leled

A} Pegboard: Multiplication and division can be taught.

B 5 sd, griafored 3808555,

B)  Gnid paper: Fractions and percentages can be taught.

§ ;
e B i S IR ah N
(G 200 e, B0 J8)0nd)

EAFEE: HITHYS
D)  Abacus: Place values can be taught.

Feie Sgo: a‘;;‘é JenHend Fjﬁ;oﬁévfo;.
Choose the correct pairs / answer:

$50% mden /esPand QothHEol:

Options:

A&C only
A &E C |@cu)

1. %

A, B & D only
A B & Dsrmsah

Sy

2. ¢

B.C & D only

B.C & D ird
3. %

ABC&D



Question Number : 118 Question Id : 7150534099 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Arrange the following items in the step “developmental activities” of the

traditional period plan in a sequential order:

™ o 2 & e I e - o SED S e oy . o A
— - G & 1 g a = L. + ’ B v
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HSGEE g ob:
A Related teaching and learning activities
SomobHe 53:3;?55;‘5!% TraSEn B L y@een
B)  Content presentation
Dadh S8
C) Generalisation
ﬁ!ﬂ&bf&;ﬁ-ﬁaﬁo
D)  Content development
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ChDDSE‘ the correct answer:
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Options :

B A D, C
1.¢

B.A.C.D
2. %
. % C.BAD

A.B.D.C



Question Number : 119 Question Id : 7150534100 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

<R ,
The teacher gave a problem * : &+ Z = 2", to determine how many and to
what extent the students understood the concept of “L.C.M.". Then this type
of evaluation ia:

Nl g gy R oar ot Bl e uladefl it adm
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Options :

Comprehensive evaluation
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T ey o pomm 2
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1. %
Summative evaluation
DofiaPerd 8 surerio8do

2. % ) B
Diagnostic evaluation
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3. %
Prognostic evaluation
errh8E shrmerroiido

4, % - i

Question Number : 120 Question Id : 7150534101 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Read the following statements related to practices of a mathematies teacher as

a facilitator of constructivist learning:

Siapiollu it g -Sh08t APEG;EOM Hedd Garprtintd @hendd voTes Jonodolld

Sod e HSHok:

A)  Learners should be encouraged to repeat what the teacher says in the
classroom.
BU18 1166° sarrrantd B D serbhen 6A AT BFERroTd.

B)  The teacher should provide opportunities for learners to express
themselves freely.

AT s & . A pph Ty E
wgrrden Ry H55008A8 Garr i wdTeed 900

A

Choose the correct answer:

08 esren oS0l
Options:

A and B are true

A 5580 B en S50

1. %

A and B are false

A 80l B en &80
2. %

A 15 false and B 1s true

A E:’iéﬁ;r:} S8 B Ew/:t*_é'a*c
3.¢

A 1s true and B 15 false

A 580 s08dn B 9dé8:0
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Environmental Studies

Section Id : 715053119
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053200
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 121 Question Id : 7150534102 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the plant among the following which stores its food in the stem.
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Options :

Apple

1. % '?_jg}’?_F

Cucumber

2
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Brinjal

g
O

Turmeric

wh ol ad
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4. &

Question Number : 122 Question Id : 7150534103 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Number of premolars present in an adult person
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Options :
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Question Number : 123 Question Id : 7150534104 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the INCORRECT pair among the following.

0B TES 0P 28 iDBobob.

Options :

Energy giving food

Carbohydrates

8 AP G

%Ei -:x‘El“ (E¥yilele o eFen
1. %
Growth food Proteins
2 % _E.';ffl':ftd’?_?é- ﬁ‘uﬁ-"b:f?{ra ’:‘:‘?-JI':‘CSO @"‘E'Mnu
Protection of health Vitamins
lagatibstalel-ta- FLALAV Y,
3. %
Bowel movements Minerals
EC'I}D gﬁ@?::"".»: q_, \.pi?mp

Question Number : 124 Question Id : 7150534105 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following gas 1s present in higher quantity in air?
808 TS MOSE° Iy HB:rmoS® S0t AN Db?
Options:

Nitrogen

1.4



Carbon dioxide

Fr_rJJ

2. &

Carbon monoxide
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3. %

Hydrogen

-

4% el

Question Number : 125 Question Id : 7150534106 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a person catches fire, we will follow the SDR principle. SDR means

2.5 ;58 sootren 5 sotndoh, S0do SDR @R @n8arsm, SDR &0

o

Options :

SHIFT-DRY-REST

2aE = [/E
ojol— E—u{;f

SAVE-DROP-RESCUE
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STOP-DROP-ROLL
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oPal—({aRel —0 £
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o

PEED-DRIVE-REMOVE

Question Number : 126 Question Id : 7150534107 Question Type :

MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement among the following.

R & .
Eob see3S° 20N aPsed DBodol.

Options :

All Renewable respurces are extracted from Earth.

e
ayadhan s ddthe

ol

J 28 toolk Solfierodiatiaron.

1. %
Sunlight, water and wind will never get exhausted.
Srdsrof, D %80 M 2508 EBATFD.

2. ¥
Nagarjuna Sagar is a thermal electric power station.

FT'D}“S Joih 2.8 fﬁfliﬂF E-&-;E g-:::-._ﬁ-::l.

3. %
Renewable energy resources cause pollution.
2RhEn s 48 Hthen penar 8 selmshdEron.

4, % =

Question Number : 127 Question Id : 7150534108 Question Type :

MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The longest and strongest bone in the human body 1s

i
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Femur
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Calf bone
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4. 8% 76

Question Number : 128 Question Id : 7150534109 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The percentage of fresh water out of the water available on the earth is

A, Y e i oy s
direlel maiod LT a0l IS0

ey

Options :

146
1.4



Question Number : 129 Question Id : 7150534110 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are NOT present in human Blood?

Bod apE® Spss BEos° B9 29?
Options :

Red Blood Corpuscles (RBC)

i 08 SBemen
1. % T
White Blood Corpuscles (WBC)
Te 05 Sgen
2. % ..
Blood Platelets
68 Hebien
3. %



Hepatoeytes

Question Number : 130 Question Id : 7150534111 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cuscuta is an example of
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i B B Do e
ooimin ey Bels 8.5 &0

Options :

Autotroph

T z S
- B a1 e
an 00 8PS0

Parasite

Question Number : 131 Question Id : 7150534112 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Identify the greenhouse gas among the following.
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Options :

Methane
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Nila)
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1.4

Hydrogen
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Chlorine
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Question Number : 132 Question Id : 7150534113 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Aeration helps organisms to grow and breakdown waste material faster. This
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Options :



Physical process

Biological process

> 2808 HEah
Chemical process
Sarchsn @2 5ah

3. %
Chlorination process
%"*" ans MSlislewy

4, %

Question Number : 133 Question Id : 7150534114 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The rivers Krishna and Godavari are originated m these Ghats and formed
deltas at this sea coast
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Options :

Western Ghats and East Coast
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Eastern Ghats and East Coast

; ,
By E0sen HHBa drsnddo Jond

Weszstern Ghats and West Coast
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Question Number : 134 Question Id : 7150534115 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Among the following, these districts of Telangana are sharing the boundary

with Andhra Pradesh
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Options :
Nagar Kurnool. Jogulamba Gadwal and Mahabubnagar
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Wanaparthy. Mahabubabad and Mahabubnagar
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uryapet,. Mahabubabad and Mahabubnagar
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Khammam, Suryapet and Nalgonda
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Question Number : 135 Question Id : 7150534116 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Kakatiyas began their career as warriors and Samanthas under these

rulers of Karnataka and established their kingdom
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Options :

Pallavas and Cheras
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Bahmanis and Gajapathis
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Rashtrakuta and Chalukvas
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Bahamanis and Rashtrakutas
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Question Number : 136 Question Id : 7150534117 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The foreign traveller who visited the Vijayanagara Empire during Sri

Krishna Devarava was

Nicolo Conti
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Question Number : 137 Question Id : 7150534118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This ruler of Qutub Shahi Dynasty was responsible for planning and building

the city of Hyderabad

2
im
]
2A
"‘.:
'.'
‘..-,-‘3
8]
4
‘?‘
3’~
r"‘u
7
%
i)

Options :

Ibrahim Qutub Shah
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Mohd Quli Qutub Shah
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Abul Hasan Tanashah
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Question Number : 138 Question Id : 7150534119 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The places that recorded the highest and the lowest temperatures on the

earth ao far are
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Options :

The Rajasthan Desert, India and Oymyakon in Russia
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Kabili in Tunisia and Jens Drever in Antarctica
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Azizia in Libya and Vostok Station in the Antarctica
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Mitribah in Kuwait and Amundsen-Scott Station in Antaretica
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Question Number : 139 Question Id : 7150534120 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One among the following cases usually begin with lodging of an FIR and
Police Investigation
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A dispute regarding purchase of goods
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A rent dispute between the owner and the tenant
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Causing damage to property belonging to others
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A murder for stealing gold from the shop
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Question Number : 140 Question Id : 7150534121 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One among the following is NOT the provision of Right to Education Act,
2009
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Options :

Improving school infrastructure facilities
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No diserimination and related practices towards children belonging to

backward and marginalized communities
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Removal of name for continuous abzence and repetition of the child in

the same class for failing in the examination
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Appointment of only eligible candidates as teachers
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Question Number : 141 Question Id : 7150534122 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Among the following, Identify the tax that is NOT levied by the
Muuicipalities
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Taxes on shops and film tickets
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Taxes on animals and vehicles
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Water tax for supplyving of water
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Land revenue and stamp duty
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Question Number : 142 Question Id : 7150534123 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One among the following 1s NOT directly elected by the voters of the
constituency
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Options :

A Mandal Parishad Territorial Constituency Member
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The Chairperson of the ZillaParishad
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Village Sarpanch
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Question Number : 143 Question Id : 7150534124 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to Gauthama Buddha, sorrow 1s caused by
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Options:

Excessive craving and desire
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Desire for family life
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Not worshiping God

Question Number : 144 Question Id : 7150534125 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Thesze forests are grown mostly on the sea coasts, sandy beaches and marshy
lands and the lands affected by tidal waves
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Options :

Thorny Forests
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Dry Deciduous Forests
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Mangrove Forests
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Mopist deciduous forests
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Question Number : 145 Question Id : 7150534126 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement from the following
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Options :

The method of verifving already formulated principles, theories,
properties ete.. 1= called Inductive method.
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Deductive method 1= a method of learning abstract concepts from

concrete ('Uncepts.
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Project method 1= popularized by H.E. Armstrong.
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There are two parts in each Assighment in Assignment method.
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Question Number : 146 Question Id : 7150534127 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Aim of Do this” section included in various topies in EVS text books of
Telangana State
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providing opportunities to learn definitions of scientific terms
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providing direct hands-on experiences
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securing good marks in examination

keeping the students engaged at home
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Question Number : 147 Question Id : 7150534128 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
In class IV, a student 1s able to give reasons for changes occur in the families
due to marriages, births, employment at new places, transfer to other towns
and so on. Which academic standard 1s thia?
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Options:

Experiments - field observations

. EOIren — 518 wddaden
1. o

Questioning and formulating hypothesis
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Conceptual understanding
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Information skills, projects
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Question Number : 148 Question Id : 7150534129 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the following activity provides first hand experience to children
while teaching the topic “types of houses™?
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Options :

Watching video
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Field wizit to near by houses
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Power point presentation on house sites
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Preparation of an album by collecting pictures of different houses
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Question Number : 149 Question Id : 7150534130 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true related to maps and picturea?
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A} Cartoons are also called as pictures
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B)  Survey of India prepares standard pictures
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C)  Scope of picture is very small when compared to map
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D)  Map has map language
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ChODSE‘ the correct answer,
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A.C & D only

B.C & D only
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Question Number : 150 Question Id : 7150534131 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement iz NOT TRUE related to teaching
methods?
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Options :

Child centred methods are based on the principle of learning through
practice

=

3 7 o # s L z R o
w38 R0 @g;ddo 03 foe o errdore E’C]EP;@ Elellalht. n}g&;ﬁ} &otPon

1. %
Child centred methods malke children to participate actively in
different learning activities
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Posing questions and giving answers are done in one direction in
teacher centred methods
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Both teacher and students play key role in teacher centred methods
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